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L PR Maths, < A
~ Time :-1.30 Hrs | N L ~ Marks:50
I 'Choosethecprrectans'wer' o, g . 5X1='5

LT 20 + (-8) F O i NS A S
+a)20 hae . L c) 11 o) 38 -
2, ,(45) S {AABY B s iivisrsnanecitssusiiatont il ' e
S - i R | b)—13 S )13 il )i e
3. Whlch property is lllustrated by the equation ~ ek

| _'(5x2)+(5x5)-5x(2+5) Y

- - a) commutative " = NI ;) closure
c) dlstnbutlve T _d) associative
L4 The area of'a parallelogram whose base 10, and’ helght 7m |s
,":v'a)705qm e Lo b)355qm

-_c)7sqm e - d)10sq.m
3 5'_.' '_ ~ The angle between the dlagonals of a.rhombus is_ -

<) EROPHST 1 b 1300 W e Trep o & © d) 1000

Fillintheblanks. SRS ¢ 4 5
The additive inverse of -37 Xyz is S Sy
. The numerlcal co - efficient of the term =Xy is
'The set of lntegers is not closed under ...... . g e
R 7. il Sy 3
it o TR _-'_45_- A S o Sasaeir i
-- Saytrueorfalse._ .:' g -, 90 'sx.1'_='5 e

." 15.- (-18) is the same as 15 + 18

e 100)x0x20 D it

- (=30) (-6) = ( 6)

2pq and —-7pq are Irke terms , ke
The expressnon 8x +: 3y and 7x + 2y can not be added
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Wy =+ € U on

- 10.
11,
12.

—

5 iS reduced froni.m

IV Matchthefollowing.- e AT S | Voo X I =S

Area of the Trapezium- -~ - m.-5
Binomial = | - .0
Area of rhombus -, ‘. x h (a .+ b) sq.units. :

| | xd x d, squmts
999 x-0 b - 2x + 3y |

Answerany 10 questions. e "' 1 10_ x"z: 20
Subtract 7xyz from 17 XyZ. : '

_Add the expressions : M . C(8x +:3)+ (1 -7x) |

If X = 2and y' = 3 and then find t_he__value of the following expression.
4y - x. | rr ‘ |

% Fmd the area of a trapezmm whose parallel sade area 24cm and‘ '

20cm and the distance between them is 15cm.

Find the area of a rhombus, when both dlagonals measurlng 8cm
Find the area of-a parallelogram whose base is 12m and helght
is 8rn ” , - :
Dlwde( -72) by8 R

Find the pI‘OdUCt of (—9) X (- 8) x2( 7) X ( 6)

Find the value of( 35) x ( 11).

Find the value using number line (- 3) “ s 4)

Are (11 + 7) + 10 and 11 + (7 + 10).

The product of two mtegers is -135. If one number -15. Find the :
other mteger ' " '

“Answer the following questions e | 4.3 : "2X5=10.°

Draw a line segment of glven Iength and construct a. perpendlcular

. bisector to each line segment using scale and compass. 8cm. -
*Construct the angle usmg protractor and draw a blsector usmg ruler

and compass 1000
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